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#include <reg51.h>

#include <stdio.h>

#define XTAL 11059200L

#define Baud Rate 9600L

#define BLINK 150

code unsigned char Reload =256-(unsigned char)(XTAL/(32L*12L*Baud_Rate));

sbit TX En = P3"2;

sbit LED = P177;

sbit swd = P173;

shit sw3 = P1"2;

sbit sw2

Il

BIET;

sbitswl = PI170;

unsigned char Time=0,Buffer{5],Index=,Address=0,Press=0;
bit sw_A=l,sw B=1sw C=1sw D=l;
void delay_ms (unsigned int count )

{

unsigned int i;

while (count)

{

i=115;

while(i>0) i--;

count--;

1

}

void Time 0 Int (void) interrupt 1

{

static unsigned char Time=0;

TRO=0;



THO=0x4b;

TLO=0xfd;

TRO=1;

Time ++;

if (Time > 20)

{

Time=0;

if (!press)

LED='LED;

}

3

void Recieve (void} interrupt 4
{
RI=0;
§

char putchar (unsigned char c)
{

TX_En=1;

delay ms(1);

ES=0;

SBUF=¢;

while(TI);

TI=0;

RI=0;

ES=0;

delay _ms(1);

TX En=0;

return{c);

}

void mam(void)

{
LED=1;



TX_En=0;
TMOD=0x21;
SCON=0x50;
THO=0x4B;
TLO=0xFE,;
ET0=1;

THI1=Reload;

EA=1;
while(1)

{

Hswl

swi=l;
if('swl)

{

delay ms(5);
while(!sw1);
delay ms(5);
if (sw_A)

{

[HON
sw_A=0;
putchar('A");
putchar(’1");
putchar('1");
putchar(13);
§

else

/fOFF
sw_A=1
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putchar('A");
putchar('1");
putchar('0');
putchar(13);
'
}

swl=sw A;

sw2=1;
if(tsw2)

{
delay_ms(5);
while(lsw2);
delay ms(5);
if (sw_B)

{

//ON
sw_B=0;
putchar(CA'");
putchar('2");
putchar('1");
putchar(13);
'

else

{

//OFF
sw_B=1;
putchar(A");
putchar('2');
putchar('0");

putchar(13):
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}
}

sw2=sw_B;

delay ms(5);
while(!sw3);
delay ms(5);
if sw_C)

{

//ON
sw_C=0;
putchar('A'");
putchar('3');
putchar('1");
putchar(13);
}

else

{

HOFF
sw_C=1;
putchar(' A",
putchar(’3");
putchar('0');
putchar(13),
}

}

sw3=sw_C;



Hswa
sw4=1;
if(1swd)
{

delay ms(5);

while(!sw4);
delay ms(5);
if (sw_D)

{

//ON
sw_D=0;
putchar(’A");
putchar('4");
putchar(*1");
putchar(13);
}

else

{

//OFF
sw_D=l;
putchar("A");
putchar{'4');
putchar(’0");
putchar{13);
}

}

swd=sw D,
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Slave A
#include <reg51.h>
#define XTAL 11059200L
#define Baud Rate 9600L
#define ID1 1
#define 1D2 b
#define ON 1
f#define OFF 0
code unsigned char Reload = 256-(unsigned char)(XTAL/(32L * 121. * Baud Rate)):
bit sw_A=0sw B=0,sw C=0,sw_D=0;
sbit swl=P1°7;
sbit sw2 = P176;
sbit RELAY1 =P1"35;
sbit RELAY?2 = P174;
sbit TX_En = P372;
sbit LED = P377;
unsigned char Time=0,Buffer[5],Index=0;
void delay ms (unsigned int count)
{
unsigned int 1;
while (count)
{
1=115;
while (i=0) i--;
count--;

}
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}
void Timer 0 _Int (void) interrupt 1

{

ET0=0;

TRO = 0;

THO = 0x4b;

TLO = 0xfd;

Time +=1;

if (Time > 20)

{

Time = 0;

LED = ILED;

}

TRO =1;

ET0=1;

EA=1;

}

void Recieve (void) interrupt 4
{

RI=0;

if (SBUF !=13)

{

Buffer[Index] = SBUF;
Index++;

Buffer[Index] = 0;

if (Index >= 5) Index = 0;
}

else

{

if (Buffer[0]=="A") && (Buffer[1]=-=ID1))
{



if (Buffer[2]=="1")
{

RELAY1 = ON;
sw A =0N;

}

if (Buffer[2]=="0"
{

RELAY1 = OFF;
sw_A = OFF;

}

}

if (Buffer[0]=="A") && (Buffer[1]==1D2))

{

if (Buffer[2]=="1")
{

RELAY2 = ON;
sw_B = ON;

}

if (Buffer[2]=="0")
{

REI.AY?2 = OFF;
sw_B=Q0FF;

}

}

Buffer[0] = 0;
Buffer[1] = 0;
Buffer[2] = 0;
Index = 0;

}

}

char putchar(unsigned char c)

{
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TX En=1;
delay ms(1);
ES=0;
SBUF =c;
while(!TD);
TI=0;
RI=0;
ES=1,
delay ms(1);
TX En=0;
return(c);

¥

void  main(void)

{

RELAY1 = OFF;
RELAY?2 = OFF;
LED = OFF;

TX En=10;
TMOD = 0x21;
SCON = 0x50;
THO = 0x4B;
TLO = OxFE;
ET0=1;

TH1 = Reload,;
TRO = 1;
TR1=1;

ES=1;

EA=1;

while(1)

{

{f-=- -
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/i swl

if (Iswl)

{

delay ms(5);
while(!sw1);
delay_ms(5);
if(sw_A)

{

i ON

sw_A=10

else

/ OFF

sw_A=1;

}

}

RELAY1 =sw A;
i -

e -

i sw2

if ('sw2)

{

delay _ms(3);
while(lsw2);
delay_ms(3);
if (sw B)

{

/# ON

sw B=10;

else
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/1 OFF

sw B=1;

}

}

RELAY?2 =sw_B;

B
I8

}

Slave B

#include <regs1.h>

#define XTAIL 11059200L

#define Baud_Rate 9600L

#define ID1 '3

#define ID2 4

#define ON 1

#define OFF 0

code unsigned char Reload = 256-(unsigned char)(XTAL/(32L * 12L * Baud Rate));
bit sw_A=0sw B=0sw C=0,sw D=0;
sbit swl = P176;

sbit sw2 = P1°7;

sbit RELAY1 =P1"5;

sbit RELAY? = P1™4;

sbit TX_En = P3"2;

sbit LED = P37,

unsigned char Time=0,Buffer[5],Index=0;

void delay _ms (unsigned int count)

{
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unsigned int i;

while (count)

{

1=115;

while (i=0} i--;

count--;

}

}

void Timer 0 Tnt (void} interrupt 1

{

ET0=0;

TRO=10;

THO = Ox4b;

TLO = Oxfd;

Time += 1;

if (Time > 20)

{

Time = 0;
LED=!LED;

¥

TRO=1;

ETO=1;

EA =1,

}

void Recieve (void) interrupt 4
{

RI=0;

if (SBUF !=13)

{

Buffer[Index] = SBUF;

Index++;
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Buffer[Index] = 0
if (Index >= 5) Index = 0;
}

else

{

if (Buffer[0]=="A") && (Buffer[1]==1D1))
{

if (Buffer[2]=—="'1")
{

RELAY1 =0ON;
sw_A =0N;

}

if (Buffer[2]=="0")
{

RELAY! = OFF;
sw_A = OFF;

}

}

if ((Buffer[0]=='A") && (Buffer[1]==ID2))
i

if (Buffer[2]=='T")
{

RELAY?2 = ON;
sw_B=0N;

i

if (Buffer[2]=="0")
{

RELAY?2 = OFF,
sw_B = OFF;

}

}

Buffer[0] = 0;
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Index = 0;

¥

char putchar(unsigned char c)
{

TX En=1;
delay_ms(1);
ES=0;

SBUF =¢;
while(1TI);
TI=0;

Ri=0;

ES=1;

delay ms(1};
TX_En=0;
returnic);

b

void  main{void)
{

RELAY1 = OFF:
RELAY2 = OFF;
LED = OFF;

TX En=0;
TMOD = 0x21;
SCON = 0x50;
THO = 0x4B;
TLO = OxFE;
ET0=1;

TH1 = Reload;
TRO=1;
TR1=1;

ES=1;

EA=1;



putchar('B');

while(1)

{

{-- --- - --

i swl

if (1sw1)

{

delay ms(5);
while(!swl);
delay_ms(5);
if (sw_A)

{

if ON

sw_A=0;

else

i OFF

sw A =1;

}

}

RELAY1 =sw_A;
i -

Hosw2

if (1sw2)

{

delay ms(5);
while(Isw2);
delay_ms(5);
if sw_B)

{
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/1 ON

sw_B=0;

else

# OFF

sw B=1;

}

}
RELAY?Z=8W_B;
i

|5
}
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